Leaf Coasters - Crochet Pattern

Materials / Gauge

Different yarn / hook size combinations will create different
size coasters. Some examples:

C hk + Sz 3 thread (6 sc=1 inch) - 4 inch coaster
Same, with 2 strands held tog (5 sc=1 inch) - 4.5” coaster

E hk + worsted “kitchen cotton” (4 sc=1 inch) - 5” coaster

Instructions

American terminology, standard abbreviations

1) Make magic ring. Ch 3 (counts as first dc). Dc 14 into ring, for 15 dc total. Join to beg ch 3
with sl st. Tighten ring.

2) Ch 2. Dcin next, ch 1 (first cluster complete). Beg in same st, dc 2 tog. Ch 1. (second
cluster complete). *Beg in same st, dc2tog, ch 1* around. Join to beg cluster with sl st.
(15 clusters total).

3) Sl st into next ch 1 sp. Ch 1. Sc 3 into same sp. In next ch 1 sp: sc 2, hdc 1. (continue to
work 3 sts into ea ch 1 spc around - ea group of 3 sts separated by a /slash/). Hdc 2, dc 1
/Dc3/Dc3/Dc3/Dc3/Dc2,Tr1/Tr1,dc2/Dc3/Dc3/Dc3/Dc3/Dcl,hdc2/
Hdc 1, sc 2. Join to beg ch 2 with sl st.

4) Ch 1. Beg in next st, *sc 1, ch 2, sk 1* around. Join to beg with sl st. (22 ch 2 spcs total).

5) Sl st in next ch 2 sp. Ch 1. Sc 3 in same sp. In next ch 2 sp, sc 3. (continue to work 3 sts
into ea ch 2 sp around - ea group of 3 sts separated by a /slash/). Sc 2, hdc 1 /Hdc 2, dc 1
/Dc3/Dc3/Dc3/Dc3/Dc3/Dc2, Tr1/Tr2Dtr1/Dtr1Tr2/Tr1Dc2/Dc3/Dc
3/Dc3/Dc3/Dc3/Dcl1Hdc2/Hdc1Sc2/Sc3/Sc3. Jointo begch 2 with sl st.

6) Ch 6. Beg 2nd ch frm hk, sl st 5 back across ch. Sc in ea st around until you reach the leaf
tip. In sp between Dtrs: Sc 1, picot (ch 3, sl st into 3rd ch from hk), Sc 1. Sc into ea st
around to beg. Join to beg sc with sl st, end off, weave in ends.
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